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FEAENRE
TH4 | A6 FEESEUEN b o uE T
TEHX4y « Tfd - FER B Az W B & #A i il A BN
JE K e = 1 25, 665, 200
NV T = 1 24, 986, 400
FIFEBG IR T Y 1 22,094, 400 | FIEBG1EA 10 m2
FRPAyYa ;
HIPERS 1B 0.1 m2
120 +HbBhika-71077
HIPERS 1C 36 m2
IRFBHHE D ;
WriEE1E T = 1 2,892,000 |WriifE1EA 2 m2
K )==2A/ MV Mt=5. Ocm ;
A Y 1 678, 800
B EHT = 1 678, 800
[ERAE Xy = 1 25, 665, 200
HiE 2 2 1 3,971, 800
Hom it = 1 389, 800
Bl s gy 2 1 58,800 | MEHERYFAT ~IERE 1 =
BGRESCGES (5 1) = 1 331, 000
B (FEHL) = 1 3, 582, 000
T = 1 29, 637, 000
Bl gy 2 1 14, 620, 000
T =5l = 1 115, 410, 020

\
—_
\
H
®

tawE PET R




LRSI E D EF B FTE N

R PERE
THEL | A6 FEBIEN bR AHE TH
THEXSy - THE - FE5 H7 & & # i Gl 2 N
— e PR A E20 1 16, 489, 980
Tk 2V 1 131, 900, 000
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TH4 | F6EESIEN b fAHE THF

TEHX4y « Tfd - FER B Az & #A #m iR
JE K e = 2,923, 370
NV T = 2, 244, 570
HIPERS I T Y 2,244,570 |FIFEBG1EA 19 m2
FRPAyYa ;
HIPERS 1B 0.06 m2
1o 0 +HbBhika-7177
rGan Y 678, 800
B EHT = 678, 800
[ERAE Xy = 2,923, 370
HiE 2 = 939, 000
BISTIGE: = 58, 000
BGRESGESE (5 L) = 58, 000
B (FEHL) = 881, 000
T = 3, 862, 370
Bl gy = 2,643, 000
T =5l = 6, 505, 370
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FEAENRE
TH4 | A6 FEESEUEN b o uE T
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
JE K e = 1 1, 548, 230
V2SN =Y 1 869, 430
HIPERS I T Y 1 81,030 |KIPERL A 1 m2
FRPAyY= ;
TR T =Y 1 788,400 |E/KEHA 6 m
BOKIE W=210 ;
rGan Y 1 678, 800
B EHT = 1 678, 800
[ERAE Xy = 1 1, 548, 230
IR 2 1 569, 000
BISTIGE: = 1 35, 000
BGRESGESE (5 L) = 1 35, 000
B (FEHL) = 1 534, 000
T = 1 2,117, 230
Bl gy 2 1 1, 595, 000
T =5l = 1 3,712, 230
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THE4 | D6 FEESIEN L RHETLE
TERXSy - THE - R Hofr B & & #E il bl M R
ERAERE =X 1 857, 640
NZUaR 2y 1 178, 840
HIFERIE T X 1 178,840 | FIVERS1EA 2 m2
FRPAyVa ;
R L X 1 678, 800
A R 2y 1 678, 800
ERAERE =X 1 857, 640
NZUaR 2y 1 178, 840
HIFERIE T X 1 178,840 | FIVERS1EA 2 m2
FRPAyVa ;
R L X 1 678, 800
A R 2y 1 678, 800
BT EE =X 1 1, 715, 280
B RER =X 1 630, 000
i i 2 X 1 38, 000
B REYGEY, (3G L) =X 1 38, 000
Homfard (RFkL) =X 1 592, 000
T =X 1 2, 345, 280
B FR =X 1 1,738, 000
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FEAENGRE
TH4 | A6 FEESEEN b R METHE
THX 4y - THE - flR B ¥ B & HH il 5] A R
TR 2 1 4,083, 280
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TH4 | F6EESIEN b fAHE THF

TERXSy - THE - R & #E R

ERAERE 4, 255, 600
NZUaR 2y 3, 576, 800

HIFERIE T X 3, 576, 800 40 m2
R L X 678, 800
A R 2y 678, 800
B TEE X 4, 255, 600
B RER =X 1, 202, 000
e TE: = 79, 000
B BREYGEY, (3G L) =X 79, 000
Hom e (RFkL) =X 1, 123, 000
T X 5, 457, 600
B FR =X 3, 533, 000
N i X 8, 990, 600
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FEAENRE
TH4 | A6 FEESEUEN b o uE T
TEHX4y « Tfd - FER B Az & #A iR
JE K e = 2,973, 160
V2SN =Y 2, 235, 260
HIPERS I T Y 2,188, 340 |FITEB51EA 4 m2
FRPAyYa ;
HIPERS 1C 3 m2
IRFBHHE D ;
Wrim f&1E T = 46,920 | WrmEifEEA 0.03 m2
K )==2A/ MV Mt=5. Ocm ;
rGan Y 737, 900
B EHT = 737, 900
[ERAE Xy = 2,973, 160
HiE 2 = 950, 000
BISTIGE: = 59, 000
BGRESGESE (5 L) = 59, 000
B (FEHL) = 891, 000
T = 3,923, 160
Bl gy = 2,677, 000
T =5l = 6, 600, 160
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FEAENRE
TH4 | A6 FEESEUEN b o uE T
TEHX4y « Tfd - FER B Az ¥ = & #A i il N BN
JE K e = 1 9, 469, 820
NV T = 1 8,731, 920
HIPERS I T Y 1 5,603,920 |FIPEEH 1A 2 m2
FRPAyYa ;
HIPERS 1C 9 m2
SRFBRRHE D
WrEE1E T = 1 3,128,000 |WrHEI{ETEA 2 m2
K )==2A/ MV Mt=5. Ocm ;
rGan Y 1 737, 900
B EHT = 1 737,900
[ERAE Xy = 1 9, 469, 820
B R = 1 2,032, 000
BISTIGE: = 1 149, 000
BGRESGESE (5 L) = 1 149, 000
B (FEHL) = 1 1, 883, 000
T = 1 11, 501, 820
Bl gy 2 1 6,611, 000
T =5l = 1 18, 112, 820
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FEAENRE
TH4 | A6 FEESEUEN b o uE T
TEHX4y « Tfd - FER B Az & #A iR
JE K e = 5, 160, 560
NV T = 4,422, 660
HIPERS I T Y 4,422,660 |FIFEE5 A 2 m2
FRPAyYa ;
HIPERS 1C 7 m2
R FERRHE D
TR v NS 1 VN
FRPAyvaf M6X 70 ;
rGan Y 737, 900
B EHT = 737, 900
[ERAE Xy = 5, 160, 560
HiE 2 = 1, 364, 000
BISTIGE: = 92, 000
BGRESGESE (5 L) = 92, 000
B (FEHL) = 1, 272, 000
T = 6, 524, 560
Bl gy = 4,106, 000
T =5l = 10, 630, 560
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FEAENRE
TH4 | A6 FEESEUEN b o uE T
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
JE K e = 1 6, 224, 000
V2SN =Y 1 5, 545, 200
HIPERS I T Y 1 5,501,820 |FIPEEH 1A 6 m2
FRPAyYa ;
HIPERS 1C 9 m2
SRFBRRHE D
Wrim f&1E T 2 1 43,380 | WrmifEiEA 0.03 m2
K )==2A/ MV Mt=5. Ocm ;
rGan Y 1 678, 800
B EHT = 1 678, 800
[ERAE Xy = 1 6, 224, 000
B R = 1 1, 542, 000
BISTIGE: = 1 107, 000
BGRESGESE (5 L) = 1 107, 000
B (FEHL) = 1 1, 435, 000
T = 1 7,766, 000
Bl gy 2 1 4,752, 000
T =5l = 1 12, 518, 000
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